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Exercise 338.

1. The average weight of 5 (7, 9) sttcl plates is i t(.n,

16 cwt., 75 lbs. Find their aggregate weight.

2. Find the average size of 8 (6, n) fields, each of

which contains 4 ac, 120 sci- rds., 16 sq. yds., 3 sq. tt.

3. I sold 4 cows for $175-25, ;»nd 6 others for $224.75.

Find the average price I rci eivcd for them.

4 I sold 2 horses for lyj 16-v. 8rf.
; 3 horses for C^^

125. 9^., and 5 horses for jjbz io5. id. Find average price.

5. My wood-shed is 20' x 8' x 8' and contains 5 cords

of wood. How much more would it hold ?

6. How many lots 2 rds. x 10 rds. can be made if 4

fidds, each 12 acres, \i\{h I) '» "^^d for street:^ ?

7. Three loads of wheat average 36 bu., 15 lbs. \ ind

their value @ $.80 ($1.20, $.96) a bushel.

3. Find gain or loss on buying 240 bu. oats ^ 24 bu.

for $10 and seUing @ 8 bu. for $5.

Exercise 339*

1. How much water must be added to 6 (8) gals, of

wine @ $3 to make a mixture worth $2 ($1.50) a ?»'•

2. A man bought 10 gals wine (^f) $3, and after putting

in enough water to make it worth $2 ($1.50, $!) he sold

it @ $2 ($3, $4) a gallon. Find his total gain.

3 A man earns twice as much as a woman, and a

woman twice as much as a boy ; and i man, 2 women

and 3 boys ea.n $8.80 a day. Find weekly wages of each.

4 A man l^ought a number of Iambs ® $2.25, and the

same number @ $2.75. How many did he buy for $750 i

5. I paid $7,600 for two farms, one ® $28 an aci .-, and

another twice as large @ $36 an acre. Find size of each.

6. It cost $36 to make a fence. If it had been 4 rods

shorter it would have cost $32 ($28, $24). Find the length.

7. A fence around a field cost $426. Had the field

been 6 rods longer, the fence had cost $438. Find the

length of the field.


